20 M3x40
10 M3x46
10 M3x20
10 M3x25
2 M3x50

50 Tuercas M3
50 Arandelas M3

2 Varillas M5x300
10 Tuercas M5

20 Tornillos M6x20
5 Tornillos M6x30
5 Tornillos M6x40

40 Tuercas M6

2 Tuercas M6 autoblocantes
20 Arandelas M6

20 Arandelas M6 vuelo

2 Varillas M10x390

15 Tuercas MAQ

10 Arandelas M40

5 Arandelas Mi0 Vuelo

DING42)
DINGA2]
DING42l
pINg42]
DING42,

|
DING34]
D\NiZS:

D\Nq34:
|
DING03I
pingd!
DINg4

|
DING34]
DINGgsI
DINA 25!
DING024
|

|
DING34

DINAZs!
DING024,



